M Clode
() -

14. The two guy wires supporting an 8.5 m TV antenna each form an angle
of 55° with the ground. The wires are attached to the antenna 3.71 m above

ground. Using a gigwipbtl trigonometric ratio, calculate the length of each

wire to the nearest tenth of a metre. What assumption did you make?
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15. From a position some distance away from the base of a flagpole, Julie estimates
that the pole is 5.35 m tall at an angle of elevation of 25°. If Julie is 1.55 m tall,

resiptpdal] trigonometric ratio to calculate how far she is from the base of

the ﬂagpolc to the nearest hundredth of a metre.
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Chapter 5 — Trigonometric Ratios
5.2 — Trigonometric Ratios and Special Triangles

There are two “Special Triangles”

MEMORIZE THESE!
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The Primary Trigonometric Ratios of the Special Angles
v
5 ﬁ 2
sin(30°) = l’i sin(60°) = -—g sin(457) = fz; G %
\
cos(30°) = % cos(607) = cos(457) - -}f—L \% = \%-
tan (30°) = '}\;—_5' % = _;3: tan (60°) - g _ tan (45°) ~ fz— _
(
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| Example 5.2.1
Evaluate

a) sin(45)-cos(60)
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c) tan(60)-cos(60)—sin(60)
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b) cos®( )+S|n2(30)
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d) tan(30)- cos(45)
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Example 5.2.2 N ({5)( “’“) - >
D ine th | here 0< 0 <90°) given:
etermine the angle 6 (where 0< 0 <90°) given A \ m WMW\
a)seC(H)—ﬁ b) tan(0) =" - = \
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Class/Homework
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